LIALEI0] 1= 28 2 2|

=5 4Y/HIE o[0ix|

s Gt

© HEINRICH KIPP WERK GmbH & Co. KG

e
]
|>
o
J&
>
[l
|-
2

X
02

oy oA >
HT Ol pm

onre
I oy 12

o i
o
L}

o
m

e
Z

B
12

= 1.4305.
4034,

2t >
ot 1>
[l

o >0y @
> rE
-

r

ta
-
ot
40
|

i

bl
1l

o >
ey 8

|, Ast|X| 2
2|E 1.4305.
1.4305.

oA

o[> H
ol umr2
HES
N I
ﬁ F
1%

o

i

0>|

-

PERE

=
o [>
o >
ER=u
3
S

oot >
oj oy
HTETO
11

O
0% o
kW

m

A

el

oo

Ok 0
i o
re

o o4
9 HI

mn mo > °°

T

A
At
Rl

= rir
ofr
- JNI
FIF r_lElL
*H ron
s
= o
0lo r_gk
ook 2t
2 o
40
i
1o

ol
=

HH O Ml

oSodzomr
oo 2k 1o |m oX J
ol ok
S
L 2o rin o
Moo - o
IlunH1I T
o lorH o3
- 21
o B 2o
2 2 >
" >
ﬁ%mg
"
T 39HI
1

n

e
Hu

a2 Aoq)0| 7+s35HHLE A olgof
HSE JtsELCH

o
ol
=

Im kO
4> 0
=

H A,

HMIA{E]:
AH O|M & K0665

www.kipp.com - info@kipp.com 1/3



°
— —_ —_ —
LIA EIO] Q= AE E2 AH|QI2|A OIHA E&X]
=N
D2
|
L3 | SW1
N
~d
~J
T
| )
~J
D-0,0Z *
-0,04
D1 \
Z= 29
FEHS Et ] SRR Fr D D1 D2 L L1L2 L3 L4 AEZ3 SW1 Fx30° A[Ef EtA
7|2 S s EbAd ==
F12£. N F29. N
K0341.1903 E AE FZE 3 M6x0,75 M2 2412 5 3510 3,5 8 0,8 4,5 10
K0341.1004 E AE A3t 4 M8x1 M3 3215 6 7 13 4 10 1 6 12
K0341.1105 E AE PEE 5 M10x1 M4 3717 7 8 15 5 13 1,3 5 12
K0341.1206 E AE 735t 6 M12x1,5 M6 4220 8 8 17 6 14 1,8 6 14
K0341.1308 E AE A3t 8 M16x1,5 M8 56 26 10 12 23 8 19 2,3 15 35
K0341.1410 E AE Z3 10 M20x1,5 M8 6228 12 12 25 10 22 2,8 15 34
K0341.1412 E AE 28 12 M20x1,5 M8 66 28 14 12 25 12 22 2,8 15 39
K0341.1516 E AE 23t 16 M24x2 M10 80 32 18 14 28 16 27 3,2 20 46
K0341.01903 E AHQIE|A AR FEE 3 M6x0,75 M2 2412 5 3,510 35 8 0,8 45 10
K0341.01004 E  AE(QIEA A&l 75t 4 M8x1 M3 3215 6 7 13 4 10 1 6 12
K0341.01105 E  AHEIQIEA AE FEE 5 M10x1 M4 3717 7 8 15 5 13 1,3 5 12
K0341.01206 E AH(QlE|A AR FEE 6 M12x1,5 M6 4220 8 8 17 6 14 1,8 6 14
K0341.01308 E  AE(QIEA A&l 7zt 8 M16x1,5 M8 56 26 10 12 23 8 19 2,3 15 35
K0341.01410 E  AEQ3A A&l Z3 10 M20x1,5 M8 6228 12 12 25 10 22 2,8 15 34
K0341.01412 E AHQlP|A AR FEE 12 M20x1,5 M8 66 28 14 12 25 12 22 2,8 15 39
K0341.01516 E  AE(QIEA A&l Zs 16 M24x2 M10 80 32 18 14 28 16 27 3,2 20 46
K0341.11903 E AHQIBA AR HIZ48 3 M6x0,75 M2 2412 5 3,510 35 8 0,8 45 10
K0341.11004 E AHQlE|A AR HIZZ3 4 M8x1 M3 32156 7 13 4 10 1 6 12
K0341.11105 E  AE(QEA A&l HIZ8t 5 M10x1 M4 3717 7 8 15 5 13 1,3 5 12
K0341.11206 E AHQIBA AR HIZEA8 6 M12x1,5 M6 4220 8 8 17 6 14 1,8 6 14

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
i ol= AEI =2 AE]O A O|CIA =
LEA}EIO] Q1= 28 2 £AH| Q2] A 1S~ SR
EZS 29
=2 Ha Y EAl EH D DI D2 L L1L2 L3 L4 AEE3 SW1 Fx30° AlEf By
7|18 S S EbAY ==
F19. N F29. N
K0341.11308 E  AHQEIA AF H[Z3 8 M16x1,5 M8 562610 1223 8 19 23 15 35
K0341.11410 E  AEHIQIBA A& HIZs 10 M20x1,5 M8 622812 12 25 10 2 28 15 34
K0341.11412 E  2HIQEA A& HIZ3 12 M20x1,5 M8 6628 14 12 25 12 2 28 15 39
K0341.11516 E  AHQlE|A AE HIZ3t 16 M24x2 M10 803218 14 28 16 27 32 20 46

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



